October 16, 2017

Please have your homework on your desk. Calculator? Yes! . .
Dato: 2 t is the solution to
- . . X-7)=2(x+6) ?
TSW find the line of best fit for scatterplots.
-2 - x+ 2
QRQ: ;’lf,___,_;m___
Translate each expression into an algebraic expression.
a)  “ninelessthan the total of a number and two” X=-21=12
(X +D)-9 1+
b)  Ifthelength of afootball field is “30 yards morethan its width”, how can you express X = 3’5
the length of the field algebraically?
4= w0
c¢)  “three times a number increased by 17"
X +1F
d)  ‘“eightlessthan one-fourth a number”
Gx =T
Algebra 1 HW
3 What va‘\lues of x make the following Equations of Lines
inequali e?
3(x+2)>21 . . . .
. 1 Write an equation of a line with
-3x-6 2 a slope of -3 and a y-intercept of 8.
— F6 ¥b m o
ﬁ@zi = +Yo
I - -3 ¥T
x £9 = Rten
=
2y =5 O
2 Write an equation of a line with a , , ,
1 f -1/5 and passing through (0, 9) 3 Write an equation of a line that
SI0pE-0 o p 8 g (U, 7). passes through the origin with a slope
o of -4. (6.5
- Y
‘{: W\Y\*b @
G N= e
+-l:)( + éx “:‘_"/*______-ﬂ‘-—
P —
= - v

X 4_5\1 = uS’@
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4 Write an equation of aline witha
slope of 8 that passes through (-3, 1).
m Xy,

5 Write an equation of a line with a
slope of 5 that passes through (6, -%).
M X h

\

vy, = (X% N-M, = e (x-x)
@\l'l =% (x¢9) \r2 = 6 (k-0
-1 =B YrZ = G730
- L
_— Z prX
Y:Ky{’lﬁ’@ S;[‘z; >
,V s
- D
< T —(-Srnir 3K
& +‘{>=Q-5_>(’h ¢ Sy —y =32
8% -\ = 19&)
6 Write an equation of a line with a 7 Write an equation of a line with a
slope of -2/3 that passes through ()?: '\‘}]- slope of 6 that passes through (3,-10).
" h " X %
Y= n e @ y-Y= o (k=X
\}4_,{—.-13(%—‘{) \|-H0:ls()"?D
= —_1_ (P - _\1
R RAE->
’/‘@ gy = la)('zg
-1
N= 3“1 :L.ﬁ,,'ti)‘,/’
e T N
S =
=&
'5(%)4 - %“’QDS fox=
Ix +3=b
8 Write an equation of a line that passes . . .
. 9 Write an equation of a line that
through the points (-;?,‘ i) and (;4(1-11' passes through the points (-2, 5) and
g4, 11). oy
hh -5 e -3 v
M= X::‘xl: vu v A Mz\'L-Y‘:n/"i‘— EZ l
( )(\ -rl-—xl Ll--l b
GCARRNSR
-5 = "F(x D -*\.‘-""'(""m
I T _5:\(K"'Z7
\!-5 = ﬁ¥ 3 \l
+S +s \I -6 = x+l
\f ='—q—X+l @ ——:'s'_/_ié
3¢ +3x K :_>;+1 =
q(%x +~b:(2_y‘{ \x‘_\h-{ﬁ(—\\)
X = \| I

3x +44=9(59)
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10  Write an equation of a line that
passes through the points (-2, 9) and (;1, -3).
< Tt

h - .
M=l }:j__-\'l__z

Xp-h, 42 ¢
@ \!—\L—_m(x—xb
Y_q:—z(mﬂ
\,—9:‘23(-4
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41x

Ix+y=95 Go

Complete Quiz on Writing Equations

After Quiz:
Read Scatterplot Notes

A SCATTER PLOT is a graph that relates two different sets of data by plotting the data as ordered pairs.
You can use a scatter plot to determine a relationship between the data sets.

|
41
110
X X
Weak, Strong, Weak, Strong, No
positive positive negative negative correlation
correlation correlation correlation correlation

A TREND LINE (or Line of Best Fit) is a line that approximates the relationship between the data sets
of a scatter plot. You can use a trend line to make predictions.

Example #1 If there were only two points on this graph, you could draw ONE line through those two
points. This graph has many points. There are many lines you could draw through these points. You
ant to draw a line that “best fits” the data.

A.) Do the following points have 2 positive !
negative correlation? NO-_Cﬁ‘SNa
(Now you know whether the slope is positive
or negative)

B.) Lay your pencil through the data. Does your
pencil cross the y-axis above the origin or below?
You now have an approximation for™d". o
I posveosegativ? Mgy J 32 (6,70 %

C.) Which equation below has the same slbpe and a
y-intercept that is approximately the same as yours?

a.y%Z b>><{ c.y;‘&(&@

2
¥

Ex2

A) Dothe following points have a positive or
negativeconelaton? ‘59 l; WSC oes®
(Now you know whether the slope is .:.:p °
positive or negative.) o

i
B.) Lay your pencil through the data. Docs your
pencil cross the y-axis above the origin or below? 0 LB
You now have an approximation for “b"ge s Ve L ( -
C.) Which equation below has the same slope and a
y-intercept that is approximately the same as yours?

a.y=x-6 (b.y=x+4) c.y=- 6d.y7<:1

Ex3

A.) Do the following points have a positive or
negative correlation’ N
(Now you know whether thé slope is e
positive or negative.) 3

B.) Lay your pencil through the data. Docs your 3
pencil cross the y-axis above the origin orbelow) 2
You now have an approximation for “b”. %&(N( ,ZO Pj

C.) Which equation below has the same slope and a

y-intercept that is approximately the same as yours?

b.y=)é+5 c.y=-1x+2 d.y=/2>§\+5




'You can also use a trend line (or line of best fit) to makeS\'z:l—
predictions from scatterplots. ot
ymaxtb XS :Ll
Exd  Which cquation fits the pattern in the table? 22 s=Llg
N \{: ZX_{. 5 Y
3 |11 |3 Stat
X |- - - el
13 7 4

y
a) =+l @) y=i+8 d)  y=tx+)

enter
What s the value of y when x = 67 What is the value of x wheny =-9? gy

N=2xt+9S N=1x+% g\*\*tfa
=25 -9=
V=2 Lty enk
—4=2x
L

Lat=-1
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Ex5  Write an cquation that fits the pattern in the table?

x [2 [0 [2 [4 [6
y |13 |1 [-11]23 |35

Equation: }l= “lx +1

What is the value of y when x = -5?

Late)=

What is the value of x when y = -5?

VENAGEL
y= 26+
¥y =3\
(=%
e
N EN 2maxrb
a= -

: 32 b=1
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